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DIVISION OF POLYNOMIALS

Question Bank

1. 2° — 22> + 32+ 8 is a polynomial. The

powers or indices of the variable are 3, 2,1 and

O (8 means 8z°).


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_v2RMsHBv3uBp

° Watch Video Solution

1

2.z> — — + 4 is not a polynomial. — means
x T

z 1. The index of — is -1 which is negative

T

and not a whole number.

° Watch Video Solution

3. 2% — 5z + 6. The degree of the polynomial

is 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_v2RMsHBv3uBp
https://dl.doubtnut.com/l/_2tCq1OYWSo2l
https://dl.doubtnut.com/l/_5lAFq49XFDhM

4. 15— 8z> 4+ 11z>. The degree of the

polynomial is 3.

° Watch Video Solution

5.4y — 5. The degree of the polynomial is 1.

° Watch Video Solution

6. Divide 12z°bydz.

| e |


https://dl.doubtnut.com/l/_5lAFq49XFDhM
https://dl.doubtnut.com/l/_mOvi0efMBSwB
https://dl.doubtnut.com/l/_MQ7pw2NrYu3i
https://dl.doubtnut.com/l/_3ON2fzZNFary

& Wwatch Video Solution ]

7. Divide and write the correct terms in the

boxes :

(—362) = (— 9z)

° Watch Video Solution

8. Divide and write the correct terms in the

boxes :

(5m?%) + (—m)

l ° Watch Video Solution


https://dl.doubtnut.com/l/_3ON2fzZNFary
https://dl.doubtnut.com/l/_RitSXJ3qieij
https://dl.doubtnut.com/l/_Mzsqpi2Bg9Fx

9. Divide and write the correct terms in the

boxes :

(—20y°) + (24°)

° Watch Video Solution

10. Study the following examples :

(185[33 + 24:1:2) = 6x

o Watch Video Solution



https://dl.doubtnut.com/l/_Mzsqpi2Bg9Fx
https://dl.doubtnut.com/l/_QdQCRLkcyuRG
https://dl.doubtnut.com/l/_61Ttbq7qjgwJ
https://dl.doubtnut.com/l/_MySWRMhOHTBP

11. Study the following examples :

(6:134 — 723 + 522 — 2z + 1) + 72

° Watch Video Solution

12. Divide. Write the quotient and the
remainder :

21m? = Tm

° Watch Video Solution



https://dl.doubtnut.com/l/_MySWRMhOHTBP
https://dl.doubtnut.com/l/_As7n9DHwInpu

13. Divide. Write the quotient and the

remainder :

40a® + ( — 10a)

o Watch Video Solution

14. Divide. Write the quotient and the

remainder :

(—48") + (- 9p°)

o Watch Video Solution



https://dl.doubtnut.com/l/_j9WUH749aLBv
https://dl.doubtnut.com/l/_iOxqgKXCl6PI
https://dl.doubtnut.com/l/_jWWBCQfrlnRv

15. Divide. Write the quotient and the
remainder :

40m° + 30m3

o Watch Video Solution

16. Divide. Write the quotient and the

remainder :

(5:133 — 3:1:2) g2

o Watch Video Solution



https://dl.doubtnut.com/l/_jWWBCQfrlnRv
https://dl.doubtnut.com/l/_RvpgCVwgUZuK
https://dl.doubtnut.com/l/_f71JiPVmT3Zp

17. Divide. Write the quotient and the

remainder :

(8p° — 4p°) + 2p°

o Watch Video Solution

18. Divide. Write the quotient and the
remainder :

(2y3 + 4y2 + 3) -+ 2y2

o Watch Video Solution



https://dl.doubtnut.com/l/_f71JiPVmT3Zp
https://dl.doubtnut.com/l/_nwtTsMiYi7hN

19. Divide. Write the quotient and the
remainder :

(213:4 — 14z% + 7:13) 73

o Watch Video Solution

20. Divide. Write the quotient and the
remainder :

(6:135 — 4z* + 8x% + 2:c2) = 22

o Watch Video Solution



https://dl.doubtnut.com/l/_s2QOrNckaoHn
https://dl.doubtnut.com/l/_VklgpIModqGJ
https://dl.doubtnut.com/l/_rXssDm1avpy1

21. Divide. Write the quotient and the
remainder :

(25m* — 15m® + 10m + 8) + 5m®

o Watch Video Solution

22, Study the following example :

(10z* — 823 + 11z% + 4z + 3) = (222 + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_rXssDm1avpy1
https://dl.doubtnut.com/l/_SWD87IJ9mVEH

23. Divide. Write the quotient and the

remainder :

(y> + 10y + 24) + (y +4)

o Watch Video Solution

24. Divide. Write the quotient and the

remainder :

(p>+7p—5) + (p+3)

o Watch Video Solution



https://dl.doubtnut.com/l/_a69G1VM0fOF0
https://dl.doubtnut.com/l/_ms7PhFOPHvcL
https://dl.doubtnut.com/l/_ydP0MOjvki73

25. Divide. Write the quotient and the
remainder :

(3z + 22° + 4z°) =+ (z — 4)

o Watch Video Solution

26. Divide. Write the quotient and the
remainder :

2m3 +m?> +m+9)+(2m — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_ydP0MOjvki73
https://dl.doubtnut.com/l/_xd3bPcUeujGy
https://dl.doubtnut.com/l/_r5hdJvDvtObq

27. Divide. Write the quotient and the
remainder :

(3w—3w2—12+x4+m3)+(2+a}2)

o Watch Video Solution

28. Divide. Write the quotient and the
remainder :

(a4—a3—l—a2—a+1)+(a3—2)

o Watch Video Solution



https://dl.doubtnut.com/l/_r5hdJvDvtObq
https://dl.doubtnut.com/l/_ZgYZWjWMuIEN

29. Divide. Write the quotient and the
remainder :

(4z* — 52® — Tz + 1) + (42 — 1)

o Watch Video Solution

30. Choose the correct alternative answer for

each of the following question :

(18z* + 212°) + 3z* = ?

A. 62>

B. 7x


https://dl.doubtnut.com/l/_beK62PomHrmB
https://dl.doubtnut.com/l/_hHrlmE0rbvoC

C.6x% + Tz

D.6x + 7

Answer: C

° Watch Video Solution

31. Choose the correct alternative answer for

each of the following question :

(—36z) + 4z = ?

A. 923


https://dl.doubtnut.com/l/_hHrlmE0rbvoC
https://dl.doubtnut.com/l/_6mIlYgNe4gsu

B. — 9z’

C.9z°

D. — 9z°

Answer: B

o Watch Video Solution

32. Choose the correct alternative answer for

each of the following question :

(143:3 — 212% — 35:(3) +(—Tx)=7?


https://dl.doubtnut.com/l/_6mIlYgNe4gsu
https://dl.doubtnut.com/l/_YkRwDUlZ88kr

A5+ 3z — 222

B.222 — 3z — 5

C.—2z2 -3z +5

D.— 222+ 3z — 5

Answer: A

o Watch Video Solution

33. Choose the correct alternative answer for

each of the following question :

(64y° —4) = (dy— 1) =7


https://dl.doubtnut.com/l/_YkRwDUlZ88kr
https://dl.doubtnut.com/l/_cNBgQ94ZC9TP

A 16y — 4

B.16y + 4

C.16y + 1

D.16y — 1

Answer: B

o Watch Video Solution

34. Choose the correct alternative answer for

each of the following question :

(5z® — 172* + 14z) + (z — 2) =?


https://dl.doubtnut.com/l/_cNBgQ94ZC9TP
https://dl.doubtnut.com/l/_DXTR4X580BD8

A5z — 17z + 7

B.5x? + 17z — 7

C.5x% + 7z
D.5x% — Tz
Answer: D

° Watch Video Solution

35. Divide. Write the quotient
remainder :

24zx* + 3z

and the


https://dl.doubtnut.com/l/_DXTR4X580BD8
https://dl.doubtnut.com/l/_hIOUcyA0UQew

° Watch Video Solution

36. Divide. Write the quotient and the
remainder :

( — 623 + 4:1:2) + 22

° Watch Video Solution

37. Divide. Write the quotient and the
remainder :

(6:134 — 1823 — 24:152) = 622

| e |


https://dl.doubtnut.com/l/_hIOUcyA0UQew
https://dl.doubtnut.com/l/_M0oojJyfPlYm
https://dl.doubtnut.com/l/_gS0xmQJ0hwM2

& Wwatch Video Solution I

38. Divide. Write the quotient and the

remainder :

(2 + 3z +9) + (z — 3)

° Watch Video Solution

39. Divide. Write the quotient and the

remainder :

(6z* + 5z — 3) = (2z — 1)

l ° Watch Video Solution


https://dl.doubtnut.com/l/_gS0xmQJ0hwM2
https://dl.doubtnut.com/l/_IzTkTZthEwp5
https://dl.doubtnut.com/l/_ChFLqUs54pUp

40. Divide. Write the quotient and the

remainder :

(32 +z —5) + (z + 2)

° Watch Video Solution

41. Divide. Write the quotient and the
remainder :

(152* — 8z — 10) + (5¢ — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_ChFLqUs54pUp
https://dl.doubtnut.com/l/_4bjrr9bF7W4B
https://dl.doubtnut.com/l/_alQ4rwZi2w7r

42. Divide. Write the quotient and the
remainder :

(m* — 16m?® + 6m — 20) + (m — 4)

° Watch Video Solution

43. Divide. Write the quotient and the
remainder :

(62° — 172 + 62 — 7) + (2z — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_alQ4rwZi2w7r
https://dl.doubtnut.com/l/_laBjV2zPzEBo
https://dl.doubtnut.com/l/_NYavIWobaSTA

44. Divide. Write the quotient and the
remainder :

(:1;4 + 323 + 8z + 122 — 7) - (:1:2 +3)

° Watch Video Solution

45. Divide. Write the quotient and the

remainder :

(y4+y3—y2+y—1)+(y3+1)

° Watch Video Solution



https://dl.doubtnut.com/l/_NYavIWobaSTA
https://dl.doubtnut.com/l/_CfYnuIdFwCx4
https://dl.doubtnut.com/l/_JVNtdvMHWXcf

46. Divide. Write the quotient and the

remainder :

(24p* — 25p° + 6p* — 56p + 24) + (8p — 3)

o Watch Video Solution

47. Divide. Write the quotient and the
remainder :

(a:4+2:c3—3w2+4a:—5)+(a:2+2)

o Watch Video Solution



https://dl.doubtnut.com/l/_i7u6Le8IlRLk
https://dl.doubtnut.com/l/_hZAx1O4dZf5x

